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O MHST=ED 2 HLHULAY 22 2 50,000
401 AlEHIZ 2O 300,000 300,000 0
01 Al&H 300,000 300,000 300,000 0
O MHS2=7 2 ol LAY 300,000
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=8523 1,043,725 1,434,904 1,588,674 153,770
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Ofl &F Kb 201l &
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- Qo ?EOE" = 2 o E U o
49 o
200 M2 =g 100 100 0
210 & A AN 2= 100 100 0
216 Ol At==¢ 100 100 0
216-01 3030l kk== 100 100 0
O 23030l Xt= 100,000 = 100
700 Ed=USEU 10, 185,645 10,185,189 456
710 B2 S 10,185,645 10,185,189 456
714 Ol Xl = 3l = 10, 185,645 10,185,189 456
714-01 OMIXI =2l 10,185,645 10,185,189 456
O eIt XISE == 10,185,645,000 = 10,185,645
> g 10,185,745 10,185,289 456
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(OIxr =) A0l A O] AFSIHL | AFSIH| |2 2= | 224 cdS8E | XS
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20178 & 59 0 59 0 59
2018 &= 2,279 0 2,279 0 2,279
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2022 &= 100 0 100 0 100
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&t 2 135,465 133,074 2,391| & 2 135,465 133,074 2,391
S| ol =) 0 0 0lHl 8 &t & A & bl 22,800 23,400 AB00
g ES =) 13,800 14,400 AB00|E Xt & A Qb 0 0 0
%t ol 2 0 0 olgs = 2 o 0 0 0
R 0 0 o2 = & bl 0 0 0
He=d2s8 % 0 0 0o = 2 0 0 0
W ox =2 & = 115,765 111,974 3,791 ol %I 2 110,665 108, 174 2,491
ol % 2 0 0 olxtg2ezas 0 0 0
o X = 900 1,700 ABO0| 0l =22l 2 AE 0 0 0
0 B A 5,000 5,000 o2 B x = 2,000 1,500 500
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Wess 112,665 109,674 2,991
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CHEXs gtatag 2,000 1,500 500
802 Bt =JIE 2,000 1,500 500
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L= S SS9 | (orxEg) TE 20 A O] AFSIHL | AFSIH| |2 2= | 224 cdS8E | XS

20161 Mt X 271,280 0 55,400 0 0 0 53,580 | 162,300 | 147,684 | 133,830 0 0 0 0 13,854 123,596
20178 & 18,550 0 14,000 0 0 0 1,967 2,583 23,518 22,083 0 0 0 0 1,435 ~4,968
20184E = 15,704 0 14,000 0 0 0 1,675 29 22,264 22,264 0 0 0 0 0 A6,560
20194 & 26,656 0 15,700 0 0 0 1,943 9,013 22,550 22,548 0 0 0 0 2 4,106
20204 & 22,195 0 13,500 0 0 0 2,058 6,642 18,804 17,364 0 0 0 0 1,440 3,391
20218 & 21,100 0 14,400 0 0 0 1,700 5,000 24,900 23,400 0 0 0 0 1,500 A3,800
2022 & 19,700 0 13,800 0 0 0 900 5,000 24,800 22,800 0 0 0 0 2,000 A5,100
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Al 119,565 115,765 110,665 25,100
0l Xl =2 A 119,565 115,765 110,665 A5,100

=8523 119,565 115,765 110,665 25,100
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